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QUESTION 1

When is it appropriate to include multiple classes for a sample text in the training data for IBM Watson Natural
Language Classifier? 

A. When the text is very detailed such that identifying a single class may cause inaccuracies. 

B. When the classifier has been retained and we want to preserve old classes from a previous training set. 

C. When experts interpret the same text in different ways, multiple classes support those interpretations. 

D. When the text utterances are very similar in nature and we want to mark slight differences using classes. 

Correct Answer: C 

 

QUESTION 2

Which IBM Watson AI service on IBM Cloud can help build a system that can understand the intent of incoming
questions and route them to an appropriate subject matter expert. 

A. Discovery 

B. Natural Language Classifier 

C. Natural Language Understanding 

D. Speech to Text 

Correct Answer: C 

 

QUESTION 3

Which two IBM Watson services combined would be applicable for an agent-assisted, email-based help desk? 

A. Watson Assistant 

B. Personality Insights 

C. Visual Recognition 

D. Speech to Text 

E. Discovery 

Correct Answer: AE 

 

QUESTION 4

What is the purpose of the IBM Watson Natural Language Classifier service? 
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A. Interpret the intent behind text and returns a corresponding classification with associated confidence levels 

B. Reduce the number of random utterances consideration, by obtaining a set of uncorrelated utterances 

C. Translate a natural language sentence into a syntactic representation such as a parse tree 

D. Group a set of objects in such a way that objects in the same group are more similar to each other than to those in
other groups 

Correct Answer: A 

IBM Watson Natural Language Classifier is a service that enables developers without a background in machine learning
or statistical algorithms to create natural language interfaces for their applications, interprets the intent behind text and
returns a corresponding classification with associated confidence levels and the return value can then be used to trigger
a corresponding action, such as redirecting the request or answering a question. 

 

QUESTION 5

Which IBM Watson service is trainable? 

A. Discovery News 

B. Visual Recognition 

C. Tone Analyzer 

D. Personality Insights 

Correct Answer: B 
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